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How many photons can we expect in a cavity!

e Signal strain:
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e RF Energy deposited in cavity:

o Time of signal A7 within cavity bandwidth bw = f,/Q = 50kHz :
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How far can we look?

e Finding distance for which at least one photon is generated within the bandwidth of the cavity
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New plots




Whats the limit on the strain that can be reached!?

e Assuming only thermal noise

e (Given a readout / integration time, what strain can be detected with a 95% CL given 1 event per year?
e This is just using number of photons, assuming a detector with € = 1, capable of counting photons

e At least 1 photon is forced -> const. region in plot
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Whats the limit on the strain that can be reached!?

e Assuming only thermal noise

e (Given a readout / integration time, what strain can be detected with a 95% CL given 1 event per year?
e This is just using number of photons, assuming a detector with € = 1, capable of counting photons

e For long integration times > 1 second: SNR = 1 is chosen as figure of merit, in line with existing publications
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